EARAROBREBRT —5 XN—ZXBISH—F

20241338 (K) 1o iE3E

U EFENE 7 USR3R

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17 :2,000,000 § ~ 237 :800,000 . 37&:500,000H  435:300,000 . 53&:200,000 9

BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N N 3 | HBES 1:34.4 1-1-1-1 | 40.6| - 6 | 459 |PIEHEEE (&)
118]10|NTYTF1—X # 54.0 =) (+4) KAJ IMOTOHD (#)
RIZAZADA-RV1A B:T74—UVTT— 7357 RS
o = — )2 2 -3-4- - {EERe (1)
208/9 | AFUYvPRST 3150 1(73?:;1 A ’ (‘:133) 2HET)
R:iTSvIIALR B:FUT PRI
= < s, = LUIMEEE : -4-6- - NEEE (&G
Y : BEECESL P t 3 e Y T R Tl e
KLy RI7IIR #:33L 75 Rigig
W '~ 4 3 | HEE 1:35.4 7-7-5-4 | M1 — 2 454 | BPEIBSE (11IE)
41717 XyFv gy 56.0 2172 ) |SETE :
R:TSvIIAR B:TLYF /D=L HEI77—LA
o <, o LLIlEERt= : -2-2- - WiBExE (i)
SEIRN =Y e 2 4 3 e 1.(336).1 2-2-2-3 | 421 4 (ﬁ; /J\Mgﬁ
RIXIIATqwIVAUT— BN-FVXDVT— MBS
° BT it : -9-8- - ZIRE ()1IIE)
61708 3vRU7 4 3 e 1.(38.3 9-9-8-7 | 41.2 7 (4_211) St
R:RIRXKY 8:Y—TU—-X5T BRAEMT IXF«T7—LA
= S5 » t 3 | BIHER 1:36.5 5-5-3-6 | 42.4| — 5 433 | REBE (15
70 6| SVAYSAT ! 54.0 a1/ | @ DyRIIyo
R:AIWTz—=I) B:YFA NIUAT7—1
S 4 3 | LS 1:36.8 8-8-9-9 |41.7| - 8 466 | /\AIEE (lz)
sl 2 cM/€E—L 56.0 (1172 (-q) |MBEEEh— :
RIRNZAMDx—U7 B:OUVF HH #X
S s 3 | BEE 1:36.8 10-9-10-10 | 41.3 | — 9 | 451 |BEXE (B
9 5| FovFzx 54.0 (79) 3 | B 9147 K—LFq VTR
RIRIVIATAwIDAUT— B:UAIYv— Ea= TR |
o < [EETEIN : -6-7- - LiEEE (1)
10l 4 E—FFUvER 4 3 Fis 1.(357).8 6-6-7-8 | 43.1 10 (3_911) EEEEM
Rig—=F/NNbO—-L B:N\EITILY -V e
@ 11— —BERIEI
10—7+— 10,1,3,9,6,4,7,2,8,5
20— — 10,1,9,3,6,4,7,2,(5,8)
IT=5r= 10,1,6,9,7,3,4,8,2,5
40—F— 10,9,1,(3,7) ,6,8,4,2,5
0 ILRE
BB 10 4,180 JA R 9-10 1,120 & 8-8 3,340 3ER 3-9-10 2,420
B B 10 4704 3-10 650/ B 8-8 4,660 3Es 10-9-3 44,840H
9 140/ 3-9 260M 5 & 9-10 4,550/
3 140/ Ba 10-9 12,490

ABIC OV TRUTEREERRODDZE. THRIIZEL.




